Al Of & AF & & Ml A
2009EE = O0I 4 285
2A: S22
A 2HSNE L WAL
ool 2EAIML 2 (el @)
SN HB - S(BH) - NRAY - BAS 0 & 24 e SImE=ET
23t2-Z 15,505,890 14,576,826 929,064
= 546,143
Il 143,898
Al 570,413
= 14,245,436
Fotl=dE 2 NIEEZs|et2= 4,775,365 3,420,212 1,355, 153
= 100,000
Al 81,000
= 4,594,365
EoAIE AE 2,574,000 2,868,000 A294,000
Folz2 A 774,000 2,868,000 22,094,000
401 AIEHIZ =204 774,000 2,868,000 22,094,000
01 Al&HI 774,000 2,650,000 A 1,876,000
O=20lsl2 A (AHHHl) 774,000,000 774,000
SEAMZE 2X Y HE Y 1,800,000 0 1,800,000
401 AIEHIZL =0 1,800,000 0 1,800,000
01 AlI&HI 1,800,000 0 1,800,000
OEX i bl 1,800,000,000& 1,800,000
S3AE 2l 2 1,781,965 212,452 1,569,513
Al 31,000
= 1,750,965
ETEoE AMHESH N 55,000 50,000 5,000
Al 25,000
= 30,000
307 QI2t0IA 55,000 50,000 5,000
Al 25,000
= 30,000
02 fltFatEx 55,000 0 55,000
O=23s& AIZ &=l 30,000,000& 30,000
Al 15,000
[ia 15,000
O=2sd AR=E 1A 25,000,000 25,000
Al 10,000
s 15,000




2AM: 2otz
BH: 2S02AE L NASSIIURS
CHol: 2EAIE B2l 29 (£rs): & 2
SN HH - ER(SH) - MEAY - BE S 0 &t o4 e HRE2
EFEZSE I2SAY K& 144,000 78,000 66,000
Al 6,000
= 138,000
307 QIt0IA 144,000 78,000 66,000
Al 6,000
i 138,000
02 BIZHEANEZX 22,000 28,000 26,000
OSFHEANATE(65) L
12,000,000& 12,000
O==&3t Mox %2t 10,000,000 10,000
04 GCIZtHALE X 122,000 50,000 72,000
XSSO0 (SR SATSLIII) Y2
Al 11,000,000& 11,000
O2EZ S2AH 11,000,000& 11,000
O N & 23 40,000,000& 40,000
O™MEEsHH AHAclHAHO0IE 10,000,000& 10,000
Al 6,000
o 4,000
o FX&E A 25,000,000& *23] 50,000
SEMNZH 2F 20,000 20,000 0
307 glz2told 20,000 20,000 0
05 QIZtREZ 20,000 20,000 0
OHEAZH 2Z 20,000, 000& 20,000
olgla izt 2 1,562,965 0 1,562,965
101 Q24| 16,428 0 16,428
10 JIZAH22ASES 16,428 0 16,428
OM&=Hl TAEel & dads 16,428
oJ1aa 32,0003 3% 82 7,872
Osg=s¥ 32,0003 »3H 41 3,936
Ou &l 5,000 *3H »82 1,230
O=4dl 5,000 *3H «82 1,230
OJtE=d 960
. S X 40,000 x3H x4 480




ol tor to
z=20H

M0 [0 MO

!
S Y NASHIIBDE
o ze| 29

. X . ClO (5 CHEAY NS AF OH dE e Hl =2+
. &= IS 20,000 x6H x4 2 480
OZE =t 400,000& *3ZE 13| 1,200
2 et FH| 261,368 261,368
At 22l I 87,880 87,880
Upt=ZHI 78,880
OARESEHI 2,000,000& 2,000
OHl2xsEs 1,824
. NEX 9,000 x 125 +8& 864
. S 12,0003 10«82 960
OFXTL(ZHI, THZ HIXI)
10,000& 505 +8& 4,000
oM EE(LYSHOZS)
10,000,000& 10,000
O=AEX 7L 6,556
. M 16,500& 200t A 3,300
. B4 25,3003 208 A 506
. A3 55,0003 508 A 2,750
OHMAEE 3,000,000& 3,000
O&=sJ188 #¢ 25,0003 32 A x83] 600
O3, &Al oHL &2 H&
100,000& =102 1,000
O3, ™Al et MEX H&
3,000,000& 3,000
OZJANYUE N S MA Q14
3,000,000& 3,000
O=Hza2 & g8 2,000& +5, 0005 10,000
ORroE SEMH 1,000,000& 1,000
OEHOIX Zole =2 100, 000& 100
OHAZE P (MYDI=SE S)
3,000, 000& 3,000
Ot 2LSE (X S)
3,000,000& 3,000
Ogaz a7 7¢ 2 MEH 600,000 600
OAMEQIEtZ 500,000& 500
Oz 2EAES 5,000,000& 5,000




A
X XH .
(=

chel:

Eetar2 it
Zsdzsds 2 N2 =
ZStAIE 22 29

1}
x
bl
bal
e
[l

[

FRI(2IH) - NIRAIY - BE S

22
J2

SENECESE
OBT HA L A
O EE-TE-E ]
ORoFYBY 242
o2g+y
OSHZ 2Y9ARE FA%
oYxz
O= AL
OE-E]

02 T2
02222 2 AA

O
E
o g
0o
oy ol

O O
=
S
fO
o

O
0
Qi
i
in
[0
0D

1,500,000

4,000,000&

1,500,000 »8&

400,000 »8&

ct
S

70,0003 10 »23]

300,000& »2CH <8

70,000 x5CH x8E

200,000 ~8&
300,000 »8&
2,000,000 «82

500,000& ~8&

—_

,500,000& 8

30,0002 +8&
1,400,000 «82
150,000& 13l
200,000& ~8&

100,000& 13l

600,000
200,000 »8&

200,000 »8&

5,000, 000& *12]

3,500,000

250,000& * 13

100,000 »8&

1,500

4,000

12,000

3,200

1,400

1,400
7,600

4,800

2,800

77,638

62,740

1,600

2,400

16,000

4,000

12,000

240

11,200

150
1,600
100
2,200
600
1,600

1,600

5,000

3,500
1,050

250

800

20
B
2




2A: S22
BH: 2S02AE L NASSIIURS
el 2EAlE 2l 29 (et9l: &2
SN B (B) - MEAY - BAS e 2
OJAAILD HBIAMASESH 100,000& *13] 100
(@)uE=3:] 1,698
OEMHIMEHI| RFU
1,415& *502| E{ *BA| 2++33] 1,698
OAl& &8l Xlbl 13,200
OAld=Z ot B 10,000,000& 10,000
OF A= X222l 3,000, 000& 3,000
Ottt == 200,000& =13l 200
03 AI2ZHI 95,850 95,850
O=20al 2 JHatAl A} 15,850
Ox=&E M 5003 *5000H 250
OEAN2ELEE 1,000,000& 1,000
OZALTH XM= 100, 000& =34 300
Og: =8 H&E 500& *5,000% 2,500
(@)= E 100, 000& * 104 1,000
omeg e 1,000,000 *1J4 1,000
ON&=EEE 1,600,000& =14 1,600
OJl1ga== 5,000, 000& 5,000
O EXE 200,000 =14 200
OChut 3 3,000,000 3,000
OJ18 5 &Al 80,000
Of&I1E 30,000,000 30,000
O30l JI23AH . JAl 50,000, 000& 50,000
203 YR 500 500
03 AIHEZFAHRFEY| 500 500
O=0lzl& & 29 SRFAH| 500,000 500
206 MZHl 25,000 25,000
01 M=Hl 25,000 25,000
OFAIS X 22| A2E(ED], JIA)
5,000,000 5,000
OsHE R2UIIH 222 2,000,000 2,000
O3dHE RUH2E AR 5,000, 000& 5,000




estaz
Sol=TE Y NA2HIMTE
SoiAle Be 2F 2 &2l
_ _ MNuE o
SN HB - S(BH) - NRAY - BAS Abou i HIRE
OZ2Y RUXYE AR 7,000,000 7,000
Ost=2+¢ 300, 000& 204 6,000
207 S OHEH 58,713 58,713
02 HAHHEHI 58,713 58,713
OEAM2t 23 38,713
OSAE EEBANAY 75
25,000,000& 25,000
oxZzd P 13,713
. 2r=2005 72,0003 * 197K 1,368
. MS-office 2004 165,000 194 3,135
, HAZZOE(MEIE) 500, 000& *1JK 500
o, HAIIZZ O (pcE) 50,000 194 950
. Ol PC&tel Z2 ]
7,000, 0003 = 1K 7,000
. OtECIAT EotmZz e
40,0002 = 19H 760
o202 EWOIX 2= 20,000,000 20,000
301 erEA= 4,000 4,000
10 BAIAHIENS 4,000 4,000
OZHE KRZAT A2
10,000& 209 20 4,000
307 QI2toId 30,000 30,000
05 QIRIE = 30,000 30,000
(OFSEas==:yal] 30,000,000& 30,000
405 KHeHHE SH| 1,166,956 0 1,166,956
01 A =SESFHSHI 896,956 896,956
Ost&E4a HEE=2H0I0 330,000 *8H 2,640
CEEN 840
oz& 420,000 »2CH 840
CERN 6,728
omn=4# 850, 000& »4CH 3,400
(@OEIPN; 62,0003 *4LH 248
o1 A 270,000 =44 1,080
O3elE A1l 450,000 »2CH 900




SH: 2SR
Zau: 2n020E Y US| HE
9 2aAlE P 29 CLE-E
S E O (EH) - MBAIY - B Of o e Hl R =2
O4AIHHIOI= 160, 000& 2 CH 320
OLERE 195,000 =4 CH 780
(OFel=F= 1,140
O Xt 160,000 44 640
O2 Xt 50,000 =104 500
034d% 249,690
OJHETO: 50,000,000& = 1CH 50,000
OLIOt: Jtdt 400,000& *1J4 400
Og&EAH 1,100,000 *5CH 5,500
O%0or=E 27,000,000& 27,000
OAMCel/SLIAFAUH(ZHEY)
12,000,000& = 1CH 12,000
OWHE/HEE EHY 450,000 »1CH 450
ORU&H 2,000,000 14 2,000
ORUYIHLHAER}) 50,000 *504 2,500
O2 XH 2=t Ol A2l X} 70,0003 *5CH 350
ORUS+ ¢ 22F 5,000,000 5,000
ORHEHHI NE 2,500,000& 2,500
OR&I| 1,000, 000 & *5CH 5,000
O & &HI/RACKE 5,000,000 *1CH 5,000
O°CIHZ 10,000, 000 = 1CH 10,000
osEA= 1,000, 000& 1,000
O=2¢eHH 1,000,000 *1CH 1,000
oaotol=a 250,000 * 104 2,500
oEptol3a 150,000 8K 1,200
ORH0t01=2 600, 000& 44 2,400
Ol 9A 6,500,000 *1CH 6,500
O=3tJ| 500,000 = 1CH 500
O&ters 0| 4,000, 0002 *1CH 4,000
OCDZ il 0104 /COR/RWI 2
1,500,000 = 1CH 1,500
OHH 2,600




2A: S22
BH: 2S02AE L NASSIIURS
el 2EAlE 2l 29 (et9l: &2
SN B (B) - MEAY - BAS 0l & 2 Soe HDS2
., CHEE 40,0003 604 2,400
. NZAtE 200,000 14 200
OFUxgI|F 26,500
- FOG MACHINE 1,500,000& =2CH 3,000
. DRY ICE 1,500,000 *2CH 3,000
- MIRROR BALL 500,000& = 10CH 500
. 2EA0IE 2,000,000 = 1CH 2,000
s YO 3,000,000 *1CH 3,000
. JIEF =Y EH| 15,000,000& 15,000
ootolaz=E 1,300, 000& *2CH 2,600
OsHdel0lE 900,000 & =3CH 2,700
OCCTV(DVR 1CH, 2toiiet 10H) 5,000,000 5,000
OEI=21(210%140) 500,000 14 500
OSIOIEEE 320,000 =2CH 640
OsdE 2UHAEHl = 60,000, 000& 60,000
OAAH 600,000 = 1CH 600
O A=l CH 250,000 = 1CH 250
ouola &Il 1,500
O&EI Xt 300,000& =54 1,500
oxXg,ses &I 10,000,000& 10,000
OZX&A &I 6,000,000 6,000
OEA2 29 415,488
O M2&elMH 33,000,000 *1CH 33,000
OEMASUEEE D] 30,000,000 =2CH 60,000
O&AMH 26,000,000 *1CH 26,000
OYEIDICIN AH 25,000, 000& = 1CH 25,000
OB otMH 22,000,000 *1CH 22,000
O A A H 22,000,000 =1CH 22,000
QARG E 3,000,000 «3CH 9,000
O MRl D] 30,000,000 = 1CH 30,000
OslAZ &3 10,000,000 = 1CH 10,000




SN 22D
BE: 2SS L NASIIIUPS
CHol: 2StAM 22l 29
x 5 - A
SA B SR(SH) - MRAY - BeE Aol Gl o
— T

OZSMHAMAHII

OdoId =g ™

OgE(AMItE2 &)
OAMItEHEE AT
O=E=H(2H)
Oodeol=Ma &I
o MIHEAIBH3E)

e

i)

2,200,000 »1CH
350,000 »5CH
1,200,000 =1CH
5,500, 000& = 1CH
700,000 = 1CH
20,000, 0002 *2CH
6,000, 000 *4CH
1,200,000 = 19CH
550,000 1 CH

5,500,000% = 1CH

g

300,000 »2CH
160,000 = 1CH

120,000& 44
150, 000& »2CH

350,000 »3CH

570,000 »4CH
16,0003 *80H

2,700 80
440,000 *3H
45,000 20 H
350,000& »2H
300,000 =14
140,000 14
150,000 #2704
200,000& *1H

400,000

400,000 *20H
430,000 *3H4
250,000 =44

250,000& 24

2,200
1,750
1,200
5,500

700

40,000
24,000

22,800

550

5,500

600

480
300

1,050

15,166

2,280
1,280
216
1,320
900
700
300
140
300
200
400
800
1,290
1,000

500

_9_




SN 252D
BH: 2S02AE L NASSIIURS
&t 2atAlE 2el 29
DA HB L CP(E) - HRAY - BAS Ak e
. HOIZ 100, 000& *8H 800
. 2914 Tt 350,000 24 700
o 10141} 200, 000& *4JH4 800
o OEE 620,000 24 1,240
Oosgiza &Il 51,532
. AMIH6E4E) 2,300,000 =104 23,000
. NI AEHH (3H2Z) 400,000 =104 4,000
. SEH 500, 000& *5JH4 2,500
. 2Kt 45,0003 *44 4 1,980
. AMU(128) 360, 000& =8CH 2,880
. SMTH(6OE) 2,000, 000& * 14 2,000
. AEEEH 360, 000& »2CH 720
o SR 1,000, 0003 *2CH 2,000
o Mot 200, 000& »2CH 400
. Ol AME 110,000& 24 220
. 2 &AL 150, 000& 24 300
. HHIR 256,000 24 512
. E 320,000 =14 320
. IHEIE 500,000& 500
., 2y 1,700,000& *6CH 10,200
O Mz JIE &I 5,000,000& 5,000
OAMS4H 147,170
OF=E=3= 12,000,000 = 11CH 132,000
OLE= 1,500,000& = 1CH 1,500
O=ZelgIl 2,700
. dioId=EelH 600, 000& »2CH 1,200
. ZetdIOIdEelH 1,500,000 = 1CH 1,500
O2AMEED] 600,000 1CH 600
Ood&En 500,000& *1CH 500
Ot 2t 450,000 = 1CH 450
OZ MM 500,000 = 1CH 500

_‘]O_




2AM: 2322
M Fli=dsE E NE2e|8t=
&t 2atAlE 2el 29
DA HB L CP(E) - HRAY - BAS Ak e
OZealdl& 1,000,000& 1 CH 1,000
O 700,000& »1CH 700
Osl0IEEE 100, 000& 14 100
(OFSE=F=Enp) 600,000 = 1CH 600
OARa | 6,520
. A& 200, 000& =8I 1,600
. 2AX 130,000 =84 1,040
. JHEIR 130, 000& =104 1,300
. OISME 110, 000& *8H 880
. RE 200, 000& *1J4 200
. 22E A 600, 000& *1J4 600
. 228 AKXt 100, 000& *9H 900
ogg4 g 19,850
oztaol g 760,000 =17CH 12,920
Ol &t 50,000& 10274 5,100
OAMZSE 610, 000& *3J4 1,830
O 2| 27,100
OEHTV 2,500,000& *1CH 2,500
O3HEH &= TV 1,500,000 = 1CH 1,500
O==2 3,000, 000& * 14 3,000
OAIA 500, 000& *1J4 500
O=ZHl AKXt 500,000 =104 5,000
Oo=s2s dx 650, 000& *4J4 2,600
Ot AT (20H4) 10,000, 000& 10,000
OS2 0] 500, 000& *2JH4 1,000
ORXMZHI|(KS) 500,000 »2CH 1,000
(©OFSPNES| 8,810
Oty 350,000 = 1CH 350
O™ AITH 300, 000& * 1074 3,000
OSEANE(ATAHE) 4,000,000& 4,000
O Xt 160,000 & *6IH 960

_11_




2A: 232
BH: 2S02AE L NASSIIURS
&t 2atAlE 2el 29 (el =
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
O2Xt 50,000 104 500
02 SN 270,000 0 270,000
OEAM+Y 10,000& 25,0002 250,000
©DvD, o+ & 25,0003 *800H 20,000
HSEst Hs gH 334,560 339,760 A5,200
= 100,000
Al 50,000
= 184,560
&S HAH X2 21,700 16,700 5,000
307 glzZtold 21,700 16,700 5,000
02 BltFaExX 21,700 16,700 5,000
O=tMASAEX =&H 6,000, 000& 6,000
OALE W SN (E,F) 5,500,000& 5,500
OEZEAEEH 1,000,000& 1,000
OSE AL 1,000, 000& 1,000
OBt M3 &EH 1,500, 000& 1,500
OHRESZ4 =2H 1,200,000& 1,200
oFgA(MSEXZ) Ml 1,000,000& 1,000
OFTHUZ A Ml 2,500,000& 2,500
OHZBZAZ Hdl 1,000,000& 1,000
OZ 2 M 1,000,000& 1,000
SR BE X2 21,860 34,060 A12,200
201 BH2ZH] 1,860 1,560 300
01 AtS2cldl 560 840 A280
o=d+d 560
OXNgRA¥ s HH+E 70,0003 x4 H x23] 560
02 22944 1,300 720 580
023223 ¥ HA 1,300
O F stEA HIIR=
1,300,000& 1,300
202 O4dl 800 0 800
01 3L 800 0 800

_12_
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= KJ

70 <M 7oy
A= 0y
o1 o} L0
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2,000
2,000
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29,500
29,500

89,000
89,000
89,000
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800

2,000
2,000

2,000
17,200
17,200

1,700

1,100

4,400

10,000
91,000
91,000
91,000
46,000
45,000
200,000
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50,000
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50,000
200,000

100,000

i
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200,000
120,000
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H
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H
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00
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00
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1,100,000

4,400,000&

30
0B

E
R

=
104
K0

E
00
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A 23220
M Zll=dsE 2 NG| 2=F
@ SSo=Hd 84 X3 (St &)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
HHeras =2t 29 40,000 0 40,000
307 QI2tolA 40,000 0 40,000
02 QI2ztFAE X 40,000 0 40,000
O4HdEas 29 40,000,000 40,000
NG EZ250=s &= 44,840 0 44,840
NS EZ3 0 =HA i = 44,840 0 44,840
201 Ypr2gy| 44,840 0 44,840
03 SHAISHHI 44,840 0 44,840
OO0l 2dl=sAH 44,840
Ocl&g M B600& *5,0005 23| 6,000
O848t HA(A) 60,000 1201 x23| 1,440
Ol 49t H2H(U) 100,000 *6JH x23 1,200
OEAI2E A2 5,000,000& 5,000
OR &Yl Xt 9,000,000& *x23| 18,000
OSHEHA A8 4 6,000,000& *23| 12,000
OAMZI X =% 600, 000& *x23| 1,200
=3 Zel 1,086,464 1,199,374 A 112,910
= 446,143
Al 227,643
o 412,678
S =22 1,086,464 1,199,374 A 112,910
= 446,143
Al 227,643
iy 412,678
S 22l 213,778 120,884 92,894
Al 48,469
iy 165,309
101 Q14| 101,258 73,644 27,614
Al 48,469
iy 52,789
10 JIZHZ2=NEES 101,258 73,644 27,614
O23tM =4 sZ Y| 38,000 x6H x 15 3,420
O23tM 2telol 96,938,000 96,938




SA: 2sBn
Ha: 257 2
oel 23 2Eael (649 &2
_ _ _ Muo
SA - HB () - ARAY - BES Ofl &F o4 il i~ o HRs2
Al 48,469
2 48,469
O23 M Zalel = 3000002 x3& 900
201 Y2yl 38,120 22,040 16,080
01 ARzl 37,400 21,320 16,080
CETTER-Y] 37,400
OSSO 2l52 5008 +8,0005 455 20,000
OSX23 N LUAHIBA=42(6)4)
1,000,0002! #1284 12,000
OSZ28 CCTV 8% £+ (1H4)
450,000% * 122 5,400
02 2=yl 720 720 0
02222 2 MAl 720
OSs 22l I3 60,0008 +122 720
202 o1l 1,000 1,800 A800
01 =i 1,000 1,800 800
CELCE 1,000,000 1,000
203 Y=Yl 1,000 1,000 0
CIREEEEEST 1,000 1,000 0
o2 e YLEAY| 1,000,000 1,000
206 T2l 2,400 2,400 0
01 M=ol 2,400 2,400 0
oFeIlEE B5AH P
20,0002 *40 T 37 4 2,400
401 ANEZHL20 70,000 20,000 50,000
01 A&l 70,000 20,000 50,000
OSS ST &X U M B4
50,000,0002 50,000
OFF2I2AA 23T OHLHZE M|
20,000,0002 20,000
S5 sge 74,490 74,490 0
= 52,143
Al 11,174
2 11,173
101 o121 67,080 73,240 A6, 160
=2 46,956




2N 23D
M 2s 2e
col: 251 2Eae (69 &8
_ _ _ Muo
FAH-FH-SASA) - NRAE - BE=Z Ol &+ 9K loﬂ/i\_Fo” Hlw &2
101 Q124 Al 10,062
= 10,062
0 J2HM2ENSES 67,080 73,240 16,160
o=t szl 65,880,000 65,880
= 46,116
Al 9,882
2 9,882
oS3 Szl =Y 300,000 *4 1,200
= 840
Al 180
2 180
206 T2l 7,410 1,250 6, 160
= 5,187
Al 1,112
= 1,111
01 Mz 7,410 1,250 6, 160
OS5t Sa2l W2 7,410,0009! 7,410
=2 5,187
Al 1,112
= 1,111
S5 2 ¥ EXNHL 151,008 304,000 A 152,992
Al 75,000
= 76,008
401 Al&HIL=HY 151,008 304,000 A 152,992
Al 75,000
= 76,008
01 A& 150,000 304,000 154,000
OXHAY 24T 150,000
O& Al &Yl 10,000,000 10,000
Al 5,000
2 5,000
OAl&H| 140,000,000%! 140,000
Al 70,000
2 70,000
03 Al&R0H| 1,008 0 1,008




2N 252D
M 2s 2e
Sel: 2 2E2e (Sl &
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K Ofl At ot Hws2
OSHNS 22T 140,000, 0002 0. 72% 1,008
S5 24 F| 581,188 700,000 A 118,812
= 394,000
Al 93,000
= 94,188
401 AN&HIL2HY] 181,188 0 181,188
= 114,000
Al 33,000
= 34,188
01 A& 180,000 0 180,000
OABAX SEOIHEA 252 HE 120,000
O& A& LI 10,000,000} 10,000
=2 7,000
Al 1,500
2 1,500
OZ At 110,000, 0002 110,000
=2 77,000
Al 16,500
2 16,500
OSA OIYSY =23 L AHZ 24 60,000
O& A& b 5,000,000 5,000
=2 2,500
Al 1,250
2 1,250
OZ At 55,000,0002 55,000
=2 27,500
Al 13,750
2 13,750
03 Al&=HH 1,188 0 1,188
OS5 24FH| 165,000,000% 0. 72% 1,188
402 IR0 400,000 700,000 300,000
= 280,000
Al 60,000
z 60,000
01 SIAX=EX 400,000 700,000 300,000




2A: 232
= 280 2l
& 23 BEE22 (el =
_ _ SIEN
SA - H L SR(SH) - HRAMY - BS 0 &4 o il ot o {imE=Eh
OMEA BE FHIU(Z24 HE)
400,000,000& 400,000
= 280,000
Al 60,000
[ia 60,000
cltsd SREUIAMY 66,000 0 66,000
207 SAOHEH| 66,000 0 66,000
01 ¢844 66,000 0 66,000
OHASH IEIMLHE =29 66,000,000 66,000
22AE L 22 THE Y 2,443,075 5,387,460 A2,944,385
Al 130,000
= 2,313,075
2222 & EMAE 801,340 288,600 512,740
Al 130,000
= 671,340
22 2L 111,100 65,700 45,400
201 LEH23H] 56,000 59,600 3,600
01 AtR2teld 56,000 59,600 A3,600
oY=l 56,000
OozZd=x g2 MA 56,000
2Z=F LAEO0 5,000& +8,000% 40,000
. AEEF 22 800& x20,000% 16,000
202 Oddl 3,600 3,600 0
01 =LAl 3,600 3,600 0
O22 0| 3,600,000& 3,600
203 HEF=4H 1,500 1,000 500
03 AIMFAHRFAH] 1,500 1,000 500
oxZs=2ad HRFAHI 1,500,000& 1,500
307 QIZt0IA 50,000 0 50,000
04 BIZFHAIE X 50,000 0 50,000
OsF2& d=3AME S2H 50,000,000 50,000
2Z=HerEa Fot 60,240 72,900 212,660
201 LEHREH| 28,000 40,100 A12,100
03 HAr2ZHI 28,000 40,100 A 12,100
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SA
X XH .
(=

chel:

S5t 23
BBES L BRI N
HBER 2L SRS

SA-EH O (BH) - HBAY - B2 Ao dd = HRS2
O & 04
O H &3 HAIS2HY] 28,000
O IIAI A 9,000,000& 9,000
O==22 H& 2,000& *5,000H4 10,000
OXNEEsEs=s 7Y 50,0003 402t A 2,000
oJ1gs #¢ 1,000, 000& 1,000
OdE=Z22 HE +# 1,000, 000& 1,000
O&ANSS Xt 5,000, 000& 5,000
01 ABBAZ 2,240 2,800 A560
10 SAIAHIEAZ 2,240 2,800 A560
Oz HeEs 28X Adle
70,0002 +8 2 +42 2,240
401 Al&HIL=HY 30,000 30,000 0
04 SHAFZISHAAI A 30,000 30,000 0
OFH &etsl MAIZ2 & 30,000,000 30,000
ZGHEHCHS 150,000 150,000 0
307 QI2tolA 150,000 150,000 0
04 BQIZ2HSHAIE X 150,000 150,000 0
O&XetutCH= A 150,000,000 150,000
SFANMSIIEH 300,000 0 300,000
Al 100,000
iy 200,000
307 QIZtolA 300,000 0 300,000
Al 100,000
2 200,000
04 OIZ2tSHAIE X 300,000 0 300,000
O2F2 DAt II=A 300,000, 000& 300,000
Al 100,000
= 200,000
SILENIJIFA 180,000 0 180,000
Al 30,000
iy 150,000
307 QIZtolA 180,000 0 180,000
Al 30,000
iy 150,000




2A: S22
My pEAE Y 2B H
Cel: 2SR U =R LR
DA - EH O (5) - HRAIY - HH2 0l & 2 Soe HDS2
04 QIZFHAIE = 180,000 0 180,000
OsHetRE I |IFH 180,000,000 180,000
Al 30,000
o 150,000
22X 28 L A&EE 2el 747,897 347,950 399,947
22X 29 ¥ 22 294,837 160,950 133,887
218 54,392 54,248 144
10 JI2ZHH2ENsSEs 54,392 54,248 144
-2 A2 54,392
== 42,3003 x20H 36 30,456
dG 42,300 x20H x 16 13,536
=l 5,000 x20H 36 Y 3,600
=gl 5,000 x20H x36 Y 3,600
Y 3,200
i < Xt 40,0003 x20H «2& 1,600
= - "l 20,0003 x40 2 & 1,600
B2 I H| 114,525 106,702 7,823
AS 22|l 57,402 56,330 1,072
=ZH| 16,750
St ==& JHE 22 16,750
OFLH E X &t 500, 000 & =54 2,500
AERHE 50,000& 101 +8= 4,000
EEX T 150, 000& =104 1,500
HESAME 2HES 4,000,000& 4,000
M= 5,000& *150= 750
AASEA SEF2Y 1,000, 000& 1,000
2HAN(HE Ol E 1Mol AP S)
3,000,000 3,000
]l 5,000
Hotol ==& 22K (FF, A%, ol
S AR 5,000,000& 5,000
i 15,652
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Zat2-Z
BRAE U BBND WY
22X 2 2 AEsS 22 ? &)
SN -ZH A (ZH) - MFAY - BES Aol a4 Hlw &2
- o= T ° . [= Bl e =5 0:”/.:"% Lsa
Odlotol ==& 221 sS4l
7,000& »43H »52 15,652
o=z 20,000
OYAl stEA 10,000, 0003 =104 2 10,000
OYAl AP A 5,000,000 *2JH & 10,000
02 =294l 50,173 45,922 4,251
o=22=3 ¢ HA 38,400
O&X SHEA MIQB(HYA, 224
AS) 4,800,000& 4,800
Ofctai=s& AldE2 &3
900,000& *12& 10,800
Og8dE I3 1,100,000 x12& 13,200
OXIgtol ==& AId2 45232
300,000& = 12& 3,600
OLASFHEA AIRA ®II23
3,000, 000& 3,000
OANFEY MUY =ERF
3,000, 000& 3,000
OXteH & Bl 11,773
O7ZHd SFHI 1,415 x1602| & *52 11,773
03 A2 6,950 4,450 2,500
OXlctol ==& HEA 6,950
Ox=3ZT 2l 900& *5000H 450
O+ M 100, 0002 * 104 1,000
OMELZEE &X 1,500,000& =174 1,500
OAZE ZHl 4,000,000& 4,000
401 A &HIZ20YI 115,000 0 115,000
01 Al&HI 115,000 0 115,000
OCHMZAIE &XI 3,000, 000 *5JH4 15,000
OXlctol==Z ALY FH| 100,000
OBAE HAZEYI(HIXIFelH) Xt
50,000,000 50,000
OYAIY &EHl =&4l dxt 40,000, 000& 40,000
OEH STl WALE HHl =&Hl X
10,000, 000& 10,000
405 Kt SHI 10,920 0 10,920
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=N
Ofd O o
A

=l
£ 9 BTN N
29 o AEES 2

HH . (3 H) - MBEAY - B Ao ggi HRS2
AL ESF SH| 10,920 0 10,920
Lot -=2& HZSAE =22 10,920
O At 200,000& *4CH 800
[@EIPN; 100, 000& *4H 400
O0lsAE 110, 000& *2H 220
O 200, 000& *3JH 600
OA It 500, 000& *x2 4 1,000
O Xt 300, 000& *3CH 900
oY ,000,000& +1CH 1,000
oulo 4 ,500, 0002 *3CH 4,500
OHMIE D] 500, 000& = 1CH 500
(@)1 1s[Fs! 500, 000& *2CH 1,000
| ANEZS S22 453,060 182,000 271,060
AEHI 22U 453,060 155,000 298,060
Al & H| 450,000 60,000 390,000
ZHZOHHEX & B4 25,000,000& 25,000
Lotol ==& AIEE Z2At 425,000
OANAEE 229 SAH(AFRE, "iCho
=4) 310,000,000 310,000
OANEES BEXSAH(ZEAE AT FHAY
sS4=0) 30,000,000 30,000
OYs4H B43At 20,000,000& 20,000
OYEE OF2AHEYH EZ2At 40,000,000 40,000
OYHEE OlAAXYOE=E IOls B
25,000,000 25,000
03 Al&S20iY| 3,060 95,000 91,940
Lotol ==& AIEE Z2At
425,000, 000& *0.72% 3,060
HALSl 22 KR S 839,838 4,750,910 N3,911,072
HdSSII02 St NHSHALY 839,838 1,675,760 A835,922
A BH2AY| 259,290 0 259,290
AF2 22| Hi 90,924 0 90,924
ut=2H| 60,524
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2AM: 2322
Hu: pEAE Q 2B N
&Rl A5 AAL 2F X2 S (ctel &
DA HB L CP(E) - HRAY - BAS Ak e 2
OARESFHI 2,500,000& 2,500
osMsEl 2 2,500,000& 2,500
OdMAEE P 3,580,000 3,580
Otlz+=g 21,0003 +3&+128 756
Otz ES 5,000, 000& 5,000
OplaEli=s 2,500,000& 2,500
OoRoZdEdY 750,000& *12& 9,000
OLgAlE 22|
500,000& 123 6,000
Os&J| et zte 150,000& 123 1,800
oz =8 M 500& *40,000% 20,000
OlE & o= 90,0003 »24 4 2,160
O&EFF NE 6,000& 240l x12& 1,728
OIdRFw +¢ 500,000& 64 3,000
ogxz 30,400
ON22U &X & Xt
10,000, 000& 10,000
O=AD] Xt 1,000,000& x12& 12,000
O&F=I| Xt 70,0003 x10CHx12& 8,400
35234l 168, 366
03223 ¥ HA 143,400
ONslea 500,000& 123 6,000
oXMIIe3 6,000,000& 123 72,000
O&DJ|etd 2| 150,000& =12 1,800
OQHY HE3 600,000& x12& 7,200
(OFSE = 700,000& ~12& 8,400
OZAIARZ 4,000,000& x12& 48,000
(©):K=3:] 12,000
OJtADJ0t HEd 1,000,000 x12& 12,000
OAlI &4 EHIS Xl 12,966
(OFak—=F=PN|l=] 4,566,000& 4,566
O2=&3tAld 200,000 * 123 2,400
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SN
X XH .
(=

chel:

e Ao

S22
FEE U 2B N
SD HAS 2B

M- H® . o9l(3) - HRAY - Ba2 Abon Soe HDS2
OFa 22| (HX , 9o
3,000,000& *23] 6,000
206 = bl 3,000 0 3,000
01 MH=Hl 3,000 0 3,000
Ozt=+g 300, 000& * 1074 3,000
401 A&HIZR20YI 503,600 1,675,760 A1,172,160
01 A&l 500,000 1,670,000 A 1,170,000
L MESII0IES 22 NR A
(H =) 500,000, 000& 500,000
03 AlZ=C0HHI 3,600 5,760 22,160
CLi MES3II0t= 22 THR ALY
500,000, 0003 *0.72% 3,600
405 RKtaHFSHI 73,948 0 73,948
01 ML ESEFHSHI 73,448 0 73,448
O©&™I|JL0H(0.7m") 18,000,000 = 1CH 18,000
O AIEED] 600,000& =3CH 1,800
O& 3| 25,000 = 16CH 400
OYWHE N (AR A) 790,000 =3CH 2,370
OYH&E I (I A 400, 0003 =6 CH 2,400
ogduld™ 500,000 =3CH 1,500
AFH 1,200, 0002 *14CH 16,800
OZ2IH (d0IX) 600, 000& =3CH 1,800
Ost&EA #HEEZH0I 300,000 =144 4,200
O & 200, 000& =64 1,200
©XEIpN; 130, 000& =64 780
O3z ZER 297,000& =24 594
os3os AKXt 138,000& =84 1,104
ou=sg Hols 150, 000& 154 2,250
Quss Xt 50,000 =304 1,500
(@) gl 300, 000& *2IK 600
OAMoILIE HIOI= 150, 000-& *307H4 4,500
OAMOoILtE 2Kt 50,000 *60 4 3,000
O&AE QX (32E) 400, 0003 x4 4 1,600
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[
OHn 0k tob

Ao+ BB . Sl (3H]) By = Ao gggf; HRS2
O&E QX (32E) 250, 000& =21 500
OAIIME (5212) 1,000,000& 1,000
OMYI4 (CH) 130, 0002 *30H4 3,900
OMbIs () 110,000& * 154 1,650
02 = M7 500 0 500
oOsJ|&d M2MH 500, 000& 500
s 84 54,000 0 54,000
JI=0 2 K& 54,000 0 54,000
307 QI2tolA 54,000 0 54,000
05 QIZIFE = 54,000 0 54,000
o3Iy 2L 54,000,000& 54,000
Sd=sedst 6,302,918 4,459,709 1,843,209
J| 143,898
Al 131,770
iy 6,027,250
Msgds & #HAXHA 1,636,618 1,587,476 49,142
J| 143,898
Al 71,770
iy 1,420,950
s8 & 485,472 479,016 6,456
201 B2 IH| 6,000 17,000 A 11,000
01 ArR2t2| | 1,000 2,000 A 1,000
Ot H| 1,000
Oosgd =4 29 1,000, 000& 1,000
oYxz 0
02 =224l 5,000 15,000 A 10,000
oO3s2= % MA 5,000
O =4 22 5,000,000& 5,000
202 O4Hl 1,800 1,800 0
01 =2ZWodb] 1,800 1,800 0
O22 0l 1,800,000& 1,800
301 YPrEAa 477,672 460,216 17,456
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2N 23221
M MEl=sg4dst
Tl MISEE U HAXS
S HE - S(EH) - NRAY - BES 01l &k o S
0f 4 o
11 =t - 2SFSE4S 477,672 460,216
o=sdg8 23 477,672
Oo2s 162,471
o NZ=XF 2,363,000& x1H 122 28,356
. A 1,862,700 x6H x 12 134,115
o8z 13,540
o NEX B2+E
2,363,000 *1/2x1H x23] 2,363
. H% ®aay
1,862, 700% »1/2+6 % x23] 11,177
ONEg 60,0003 »7H«12& 5,040
(OFSFmtol= ) Fa= 7,080
. NEXt 110,000 1 x 122 1,320
. A 80,0003 x6E x12& 5,760
OZ Mg A 130,000 7 x12& 10,920
Ousg=xHl 130,000& *7H x 12 10,920
O EF It 16,248
o NZX 2,363,000& *0.6%1H »23] 2,836
. A= 1,862,700& *0.6x6H 23| 13,412
OJHAIXI &bl 27,079
. NEX 2,363,000& x0.4x 18 x53] 4,726
. 1,862, 700& *0.4+6H x53] 22,353
OotEs =
162,471,000 *1/12%1/30%10 4,514
OXZE x| 11,940
o NZX 155,000 1H x12& 1,860
. A 140,000 6E x12& 10,080
Ogd=d 17,400
. NEX 250,000 18123 3,000
. 200,000 «6H 12 14,400
ONEX= 100,000& 18123 1,200
Oztald| 50,0003 »7H«12& 4,200
OXNEX &=l 500,000& 18122 6,000
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2N 23221
M dEN=sgds
ool MISEE U BAX (el &2)
SN EE - ER(EN) - NRAY - BaS sl e HlRE2
O+ Hedd 500,000 6«12 36,000
(O)SESE=, 11,000,000& 11,000
Olzigazsas 3,000, 000& *32 9,000
Ogt=agHY HolH| 2,000,000& *13] 2,000
on =l 15,000,000& 15,000
(OFa=3=2= 1 25,000,000& 25,000
Otal&Eot3 | 35,000, 000& 35,000
O=#dl 46,120
. MXIE&HI(S,otH) 5,000,000& *23| 10,000
. HE5E AEZ 360,000 7123 30,240
. A 70,0003 7H+12& 5,880
=F2 M=z & N 87,008 82,134 4,874
307 glz2told 87,008 82,134 4,874
02 2ItAa=EX 87,008 82,134 4,874
o= HMs3 N2 62,100
Oy2H& oAbl 51,700,000& 51,700
O&IIB3 L 2tE3 S 8,000,000& 8,000
OAR4a 23| 2,400,000& 2,400
O=Fz dEM=sgs N 24,908
Oa2H& 1A 16,508,000& 16,508
OAR4 23| 2,400,000& 2,400
OJIsdEssx 6,000,000& 6,000
o)z ¥ d=20U3 XN 490, 100 526,000 A 35,900
307 glz2told 490, 100 526,000 A 35,900
04 BIZtHALE X 490,100 526,000 235,900
OM122l A MEH S 33,000,000 33,000
OHM1al Z2=I| =202 13,600,000& 13,600
OHMI8al ==J| i=CHal 5,500,000& 5,500
OHM1al Z2=+J =Wz 6,600,000& 6,600
OHM103 Z=J| HHERIES 13,000,000 13,000
OHN63l 2= OF-CH3 7,500,000& 7,500
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2N 25 2BD
HE: MBHSEHS
S HSES L BAXL (5l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K Ofl At ot Hws2
ORT15 22| HUAMNS 5,500,000%! 5,500
ORI108 24| &3 5,500,000 5,500
ON9E 240l 2 5,500,000%! 5,500
ORI105 240 23 5,500,000 5,500
OR115 241 HolE=SHS 5,500,000 5,500
ORl6s 240l SHH3 5,500,000 5,500
OR6sl B4l ZAA BOISHOIEZHS
5,500,0002! 5,500
OHN6sl 24J RAE ER0H3
17,000,0002! 7,000
ORl28 24| A3 5,500,000 5,500
OR238 240l 224012 U3l
5,500,000%! 5,500
ORI28 240l HAHE 5,500,0002! 5,500
OR 18l 247 +¥H3| 5,500,000 5,500
S0 MEHSHE (Z2,817)
26,400, 0002! 26,400
OZUE ORNERE 29 14,000, 0002! 14,000
OOXED 245 XA(S,9)
24,000,0002 24,000
0%z AU 22X X 30,000,0002 30,000
oX= E03 150,000,0002! 150,000
O MRUICHE 2l B
35,000, 0002 35,000
OF= AIOHNTBLHE 50,000, 0002! 50,000
ORAHE S8 % RUIAE XY
2,000,000%! 2,000
O8HHE &It X 2,000,000%! 2,000
S4Z 2MASHBHS 280,000 250,000 30,000
307 eI2t0|H 280,000 250,000 30,000
04 SIABAIBE 280,000 250,000 30,000
OCHal X2t 130,000, 000%! 130,000
O 258 ALt 150,000, 0002 150,000
MEHSDA 2Y 15,002 16,546 A1,544
| 4,530
Al 5,236
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2AM: 2otz
M MEl=sg4dst
o9 HSES L BAX (et9l: 22
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
307 QI2H0|H = 1,980
02 Qa8 X 3,960 4,400 A440
oOZ=M=Us 23 3,960,000& 3,960
| 1,980
o 1,980
MEH SRS A B XA 209,280 199,800 9,480
J| 104,640
Al 52,320
= 52,320
307 QIt0IA 209,280 199,800 9,480
| 104,640
Al 52,320
= 52,320
02 glztHaEx 209,280 199,800 9,480
OME ST B XIAtS 209,280,000& 209,280
| 104,640
Al 52,320
o 52,320
HEMN =S NTA BHXIAS 41,856 19,980 21,876
Il 20,928
Al 10,464
= 10,464
307 glzZtold 41,856 19,980 21,876
| 20,928
Al 10,464
= 10,464
02 QtFAEX 41,856 19,980 21,876
ONHZAMSESTTT HIXI AL
41,856,000& 41,856
| 20,928
Al 10,464
[ 10,464
SENSAEY 22 300 0 300
301 LptEazg 300 0 300
10 dAIAMHIEAZ 300 0 300
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SN 2B
B MEHS S
o9 HSEE L BAXD k)
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 0 At of Hnz2
OZEE sATFIAA H2Q AYR2Y
10,0002 #1584 x23] 300
NS INEPA= 15,000 0 15,000
| 7,500
Al 3,750
2 3,750
307 212t0|H 15,000 0 15,000
| 7,500
Al 3,750
2 3,750
02 SIABNBE 15,000 0 15,000
OHSHSH AlAL 15,000, 0002 15,000
p] 7,500
Al 3,750
= 3,750
HMSAL g 2 22l 4,666,300 2,872,233 1,794,067
Al 60,000
2 4,606,300
MEHSAL L% 1,913,800 626,700 1,287,100
203 AR=XY| 800 1,000 A200
08 AlE=TARFAIY| 800 1,000 200
OMBISAE SX2 Y2ET
80,0002 800
401 AlEHIL 20| 1,913,000 625,700 1,287,300
01 Al&H] 1,908,000 622,000 1,286,000
0oL HBALE ZLAL 420,000
OA A& H b 15,000, 0002 15,000
OZ A 405,000, 00024 405,000
O2Y IR +HIBY X4 720,000
O A 720,000, 00024 720,000
02Y25 HSAL HEAMY(LHDSS
DOXRCZMHE) 415,000
OA A& b 15,000, 0002 15,000
OZ A 400,000, 00024 400,000
OMMMETISAIL Sxl2 32 13,000
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SN 2D
B MEHS S
ol MSAS S8 2 22 (S92l
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 Ofl AF o4 Sl ko HRE2
O& A& b 13,000,002 13,000
ONY MEHFAL 50,000,000& 50,000
O2Z 2 ASANES 40,000,0002! 40,000
O g WS MEHSAE 180,000, 000& 180,000
Q&= St MSAE= 70,000, 000& 70,000
03 AlZ=201dl 5,000 3,700 1,300
ONMSAE ZEAMS 5,000, 000& 5,000
MEHSAE FA 2el 1,192,500 770,283 422,217
401 AIEHIZSOYI 1,180,000 342,500 837,500
01 AlZ8] 1,175,000 340,000 835,000
02 23 HLIAK FulAel 1021 25,000
OA A& b 25,000,0002! 25,000
022 23 HLAE FHAL
60,000, 000& 60,000
O=24t Gl 2HZ FUIAE 200,000, 000& 200,000
O24 AT ANLES BUAL
150,000, 000& 150,000
O gd HHZE FUIALY 150,000, 000& 150,000
02g 25 MUSALSU 2oS LA
40,000,000& 40,000
ONOIESH (B o, ME)AXNC| L
AN&E=Z ZHl 150,000, 000& 150,000
OHTHOIESH BB =4
80,000, 000& 80,000
OSE AW DWAMSAE F|
120,000,002 120,000
ONE AFLAINL BAHANL Fl
50,000,000& 50,000
OHMENSAEE SN2 =4 100,000,000 100,000
OMSAIL (02 S0 72) DHBA
50,000,000& 50,000
03 Al ThH| 5,000 2,500 2,500
02 23 HILIAK FulAel 1021
5,000,000 5,000
405 KHAHRE SHI 12,500 4,000 8,500
01 XA ESEH=HI 12,500 4,000 8,500
GRS 1,000,002 571 5,000
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SN 2sE
M. MEXNSE2HE
S MESAIE 28 L 22 (St &)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
O30y &lA 50,000& * 1504 7,500
SENQIXRAC =4 120,000 0 120,000
Al 60,000
iy 60,000
308 AXISHHMSOIHA 120,000 0 120,000
Al 60,000
iy 60,000
06 uWI|IAMUSEXZ2 120,000 0 120,000
Ost IERKC =4 120,000, 000& 120,000
Al 60,000
= 60,000
H MEXN=s2Y 24 70,000 0 70,000
401 AIEZHIZLE204Y] 70,000 0 70,000
01 Al&H| 70,000 0 70,000
OFY MEMNESE TEAMY 70,000
OA&AI & A HI 70,000,000 70,000
SESSH =4 1,370,000 0 1,370,000
401 AlZHIZLE2048] 1,370,000 0 1,370,000
01 Al&H| 1,370,000 0 1,370,000
O2& MEs33 =4AY 1,370,000
O& A& AHlIbI 70,000,000& 70,000
OEX I 1,300,000, 000& 1,300,000
HMSAAH| (2221 83,404 110,071 N26,667
ClHESYH(Ba2Z 1) 4,200 4,200 0
ol 2| 4,200 4,200 0
203 YRFEH| 4,200 4,200 0
04 ENSILRFZAHI 4,200 4,200 0
ORNSHEYERFA 350,000& x12& 4,200
Jl2Zdl(2at22 1) 79,204 105,871 N26,667
Jle&d | 79,204 105,871 N26,667
201 B2 I 30,244 36,751 6,507
01 ArS2t2|tl 30,244 36,751 AN6,507
Ot H| 15,964
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